New Maths GCSE: G7 - Rotation

Correct Answer: ABCD

The blue object has been rotated 90° clockwise

about the point (1, 2). Which is the correct image? Explanation.
aty
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Following a rotation 180° clockwise about the Correct Answer: ABCD
o : : - _
origin, where does the circled point go to~ Explanation:
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Following a rotation 90° clockwise about the Correct Answer: AB CD

origin, where does the circled point go to?

Explanation:
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Following a rotation 270° clockwise about the
origin, where does the circled point go to?
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Transformations

Which shows a 90° counterclockwise rotation of the figure?
A i B. :
[ :: . @

gher — Paper 1 — Question 9a

Which option
shows a shape
that has been
rotated 90° anti-
clockwise about

(1,0)?

Janet rotated the triangie 90° clockwise about the origin to create figure A'B'C’. What are the
coordinates of the vertices of the figure AB'C after the rotation?
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Correct Answer: ABCD

Explanation:

The point £(2, -3) is rotated about the origin through an angle of 90° in

an anti-clockwise direction. What are the coordinates of the image P?

A) (3.2)

B (2.3)

L

Correct Answer: ABCD

Explanation:

When rotated through 90° about the origin in a clockwise direction, the
image of the point (3, 1) is

A (-L3)

By (3.-1)

(1.-3)
@y Il e

Correct Answer: ABCD

Explanation:

A LMN . above, is rotated anti-clockwise about L through 90°. Which of

the following is its likely image?
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